ASSEMBLY INSTRUCTION

1340028




Ver. 02 KD SIDEBOARD 2 DRAWERS + 2 DOORS 2 0of 16



[ Hardware

[x 15] [C [x 20] [D [x 19
@12 mm @8 x30 mm
E | x20| [F | x8| |G | x2] H | x4
_™>
— K

@ 6 x30 mm M 7 x 50 mm L4
| [ x1] [J | x 4] [K | x4] [L | x2

-
@ 15 mm
M | x2| [N Ix 22| [O Ix 16] [P | x8

@ N
% ) |
M6 x10.5 mm M3.5x13 m ‘
Q | x8| R | x8][S | x2] [T | x2
M 3.5 x 15.5 mm M45x12.5 @, q
u_ [ x 2] [V [ x 8] (W [x 14] [X [ x2
qe) e
N g «-l@ e
'\_" M 8 x39 mm M 6.4 x 45 mm (
Y | x2|[Z | x 2] [AA | x 1] RM35A | x2
A
> ]
& () v =
350mm =
US12 | x1
@ SET-UP TIME : 90 MINUTES NUMBER OF PERSONS : 02 @ TOOLS : e m[_ﬁ%

Ver. 02 KD SIDEBOARD 2 DRAWERS + 2 DOORS 3 0f 16



C [ x 4] [V | x4

R e

M8 x39 mm
KD SIDEBOARD 2 DRAWERS + 2 DOORS 4 of 16




| x4

R
M 8 x 39 mm

0 | x6 | x4][Q | x 4] [RM35A | x1
M3.5x13 mm M 3.5 x15.5 mm 350 mm
Ver. 02 KD SIDEBOARD 2 DRAWERS + 2 DOORS 50f 16



0 | x6|[P | x4][Q | x 4] [RM35A | x1

N . e
M3.5x13 mm M 3.5 x 15.5 mm 350 mm

@ 8 x 30 mm
KD SIDEBOARD 2 DRAWERS + 2 DOORS




@ 8 x30 mm

D Ix 12] [N | x 8] RM35A | x2
— N =
«
@8 x30 mm M6 x10.5 mm 350 mm
Ver. 02 KD SIDEBOARD 2 DRAWERS + 2 DOORS 7 of 16



| x4

@ 15 mm

KD SIDEBOARD 2 DRAWERS + 2 DOORS

8 of 16



Ver. 02 KD SIDEBOARD 2 DRAWERS + 2 DOORS 9 of 16



| x1

@ 15 mm

[ x 3]l

¢15mm%

—Laminated

Laminated——

@12 mm
Ver. 02

10 of 16

KD SIDEBOARD 2 DRAWERS + 2 DOORS



| x6

F

M 7 x50 mm

G | x1
L4

[
=

G | x1 | x4][J | x4 | x4
_ >
% l!(@ ‘\(
L4
Ver. 02 KD SIDEBOARD 2 DRAWERS + 2 DOORS 11 of 16



W

:««m«««m@

L4 M 6.4 x 45 mm
Ver. 02 KD SIDEBOARD 2 DRAWERS + 2 DOORS 12 of 16




W

M6 x10.5 mm

Only need 24 pcs of (14) for assembly,
the package comes with extra 1 piece for spare.

—a (]
1 2 PVC Sheet 3
X | x2 - JJ‘#”I’
e -~

Ver. 02 KD SIDEBOARD 2 DRAWERS + 2 DOORS 13 of 16



| x2

| x2|lY

0

i

| x2|IT

—

| x4]|[S

)

M 3.5x13 mm

°
o
o

«(«c

o
° o
| om— i — i e— J T J T JT—9 ——

| x2

[ x2][Z

o

| x4|U

M4.5x12.5 mm

Ver. 02

14 of 16

KD SIDEBOARD 2 DRAWERS + 2 DOORS



BOTTOM

TOP

M4.5x12.5 @r

15 of 16

KD SIDEBOARD 2 DRAWERS + 2 DOORS

Ver. 02




Ver. 02 KD SIDEBOARD 2 DRAWERS + 2 DOORS 16 of 16



TIPPING RESTRAINTS KIT INSTALLATION GUIDANCE

Different wall materials require unique wall fasteners.
The wall plugs (AA2) and screws (AA3) are designed for fixing to concrete walls only.
Please consult your local hardware store to ensure you are using the correct hardware for you wall type.

== —
mbe

AATx 2

=g

AA3 x 4 AA4 x4

Installation Instructions :

1. Attach bracket (AA1) securely to the back top of the furniture using screw (AA4) provided. Allow 8 - 10 cm from each side.

2. Please make a hole for wall plugs position on the wall and minimum 15 mm below bracket secured to the back of unit attach the wall
plugs (AA2).

3. Locate the other bracket (AA1) on the wall over wall plugs (AA2). Place furniture into position so both brackets (AA1) are vertically in the
line.

4. Lace the end of the restrains strap through the larger hole in each bracket. Ensure the restrains strap with grids surface facing the inner
loops. Bring both ends together and slide the flat end through the locking end and draw it through until all slack is removed.

5. Make sure that the strap is securely laced & locked.




